
623882 

No. of Printed Pages : 16 
	 LMT-01 

CERTIFICATE PROGRAMME IN 
TEACHING OF PRIMARY SCHOOL 

MATHEMATICS (CTPM) 
Term-End Examination 

June, 2019 

LMT-01 : LEARNING MATHEMATICS 
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(Wheightage : 70%) 

Note :Attempt any ten questions. 

1. Which of the following are correct and which 

are not ? Give reasons, including examples 

when required for your answers : 10 

(i) Children know no mathematics when they 

start formal schooling. 

(ii) The best way to help children learn a topic 

is to solve one problem for them, and then 

give them many questions of exactly the 

same type to solve. 
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(iii) The process of exploring numbers, is an 
important part of developing mathematical 

thinking. 

(iv) The primary school curriculum does not 
give any opportunity for developing spatial 

abilities. 

(v) The process of estimation has no role in the 

learning of Mathematics. 	• 

2. What do the following terms mean ? Explain 

each term and give an example : 	 10 

(i) Schema 

(ii) Scaffolding 

(iii) Axiom 

(iv) Egocentrism 

3. (a) Give three differences in the ways in which 

classrooms are organised in the banking 

model and the constructivist model. 

Explain how these affect student's 

learning, using the context of learning 

about decimal fractions. 6 

(b) Find the probability of getting a multiple of 

3 as the sum of numbers that come up 

when two 6-faced dice are thrown. Write 

all the steps and reasoning you use of 

calculating this probability. 	 4 

(A-24) 
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4. (a) Give two essential differences between the 

programming model and the constructivist 

model of learning. Explain these 

differences, 	using examples 	from 

introducing equations to Class V Children. 

5 

(b) What does 'conservation of quantity' 

mean ? Why are pre-school children not 

able to conserve quantity ? Your 

explanation should include an example. 5 

5. Give five characteristics of a good mathematics 

classroom activity for children of Class IV. Give 

examples to support your answer. 	 10 

6. (a) What is a process diagram ? What errors 

does a Class V child usually make in 

reading a process diagram ? Explain them 

through a detailed example of a process 

diagram. 	 6 

(b) Explain the difference between procedural 

and conceptual knowledge. Illustrate your 

answer in the context of learning the 

algorithm for multiplication of two 

fractions. 4 

(A-24) P. T. O. 
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7. (a) Consider the following data about the 

shoes of different sizes sold during a week 

by a shop : 	 6 

Size of 
shoe 

Mon. Tues. Wed. Thurs. Fri. Sat. Sun. 

3 4 2 0 1 3 3 	5 

4 3 1 0 4 2 4 	5 

5 4 0_ 3 4 3 	4 

6 2 5 0 2 3 2 	3 

7 5 3 0 4 5 4 	6 

9 4 5 0 4 2 -  3 	5 

10 1 4 0 3 4 2 	4 

Total 25 24 0 21 23 21 	32 

(i) On which day were the maximum 

number of shoes sold ? 

(ii) What was the average number of 

pairs of shoes sold per day during the 

week ? How did you arrive at this 

answer ? 

(A-24) 
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(iii) Find the mode of the shoe sizes sold 

that week. Also draw a bar diagram 

for the given data, that reflects your 

answer. 

(b) Apply the principle of mathematical 

induction to show that the sum of the first 

n even natural numbers is n2  + n . 	4 

8. State and prove a divisibility rule for 6. 	10 

9. (a) What is the difference between a glide 

symmetry and a reflection symmetry ? 

Explain this, using suitable examples. 4 

(b) Explain the following processes, in the 

context of data handling : 	 4 

(i) Moving from general to particular 

(ii) Moving from particular to general 

(c) Explain the concept of 'accommodation' 

through an example of a pre-school child 

making sense of 'large' and 'small'. 2 

(A-24) P. T. 0. 
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10. (a) Consider the following solution, where A, 

B, C, D, E denote distinct digits from 0 to 

9, andFO is an arithmetical operation : 6 

AB 

0 CC 

DC 

DC 

DEC 

(i) Which operation is ® and why do you 

say so ? 

(ii) What possible choices are available for 

the digits B and C and why ? 

(iii) Find A, B, C, D, E. 

(b) Give two distinct activities to assess how 

far a primary school child has developed 

the ability to interpret data. 4 

11. (a) Anil, a primary school teacher, says he 

always makes Class III children memorise 

tables upto 10. Shehnaz, another primary 

school teacher, says that she does not make 

children memorise any tables because they 

learn them by using them in several 

(A-24) 
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different contexts. Which of the two 

teachers do you agree with ? Give reasons 

for your answer. 2 

(b) Explain the process of 'disproving'. Also 

give an example of this process. 	3 

(c) Explain how a game can have a learning 

objective. Use an example pertaining to the 

estimation of the sum of decimal fractions 

in your explanation. 	 3 

(d) 'Each child develops her schemes by 

interacting with her environment.' Give an 

example, with juitification, in support of 

this statement. 	 2 

(A-24) P. T. 0. 
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